

9860 Indiana Ave #18 Riverside Ca, 92503 (909)-913-3024

To: City of Lake Elsinore 130 S. Main St, Lake Elsinore, Ca, 92503

Date:ACI Project No.:September 6, 202323-10081Project Name:City Project No.:DOWNTOWN SB-821Z10081Change Order No:RFI No.:001 & 002

Attention: Carlos Norvani

We are submitting the enclosed: COST PROPOSAL FOR SIDEWALK, C&G AND DRIVE APPROACH ON GRAHAM/KELLOGG AND ON HEALD

Plans & Procedure		Sample	RFI
Shop Drawings		Permits	Submittal
Certifications		Construction Work Plan	Resubmittal
Product Data	Х	Change Order	Other:

Disposition:

X	For Approval	Approved	No Action Taken
	For Your Information	Approved As Noted	Submit copies
	As Requested,	Revise & Resubmit	Resubmittal Copies For Approval
	Review & Comment	Rejected	Other:



9860 Indiana Ave #18 Riverside Ca, 92503 (909)-913-3024

Description of work:

The scope of work will include, saw-cutting AC removal and disposal, fill import and grading, forming and placing concrete curb & gutter, drive approach, sidewalk and area restoration per city of Lake Elsinore standards. Cost includes all labor and material, traffic control. REQUESTED 20 WORKING DAYS

Cost:

#	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
CCO-1	KELLOGG IMPROVEMENTS (ITEM)				\$68,227.28
CCO- 1A	Mobilization (bond, insurance), (1)	LS	1	\$0.00	\$0.00
ССО- 1В	Traffic control (2)	LS	1	\$5,282.00	\$5,282.00
CCO- 1C	Clearing and grubbing (5)	LS	1	\$7,729.00	\$7,729.00
CCO- 1D	Saw cut and remove AC pavement (7)	LF	225	\$5.00	\$1,125.00
CCO- 1E	Grading and import (6)	LS	1	\$8,654.68	\$8,654.68
CCO- 1F	Curb and Gutter (type 6) (17)	LF	225	\$57.00	\$12,825.00
CCO- 1G	Sidewalk city std 210 (22)	SF	1010	\$10.00	\$10,100.00
CCO- 1H	Driveway approach (21)	SF	640	\$15.00	\$9,600.00
CCO- 1I	Sawcut remove and replace portion of driveway (29)	SF	384	\$18.00	\$6,912.00
CCO- 1J	Parkway restoration	LS	1	\$6,000.00	\$6,000.00
				Total	\$68,227.28



9860 Indiana Ave #18 Riverside Ca, 92503 (909)-913-3024

CCO-2	GRAHAM IMPROVEMENTS & HEALD IMPROVEMENTS				
CCO- 2A	Grading and import (6)	LS	1	\$7,476.00	\$7,476.00
CCO- 2B	Remove sidewalk (8)	SF	1,000	\$3.00	\$3,600.00
CCO- 2C	Remove drive approach	SF	1,150	\$5.00	\$5,750.00
CCO- 2D	Sidewalk (22)	SF	1,000	\$10.00	\$10,000.00
CCO- 2E	Drive approach (21)	SF	1,150	\$15.00	\$17,250.00
COO-2					
				Total	\$44,076.00
CCO-1					
				Total	\$68,227.28
				Total	\$112,303.28



